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QUESTION 1

A developer is building an automation which types text into the fields of a web page The Activity Project Settings for UI
Automation Classic activities are set as follows: 

The developer has configured the properties of a Type Into activity as follows: 
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What is the behavior of the Type Into activity when executing the workflow? 

A. The activity will use SendWindowMessages in Run mode and in Debug mode. 

B. The activity will use SendWindowMessages in Run mode and Default in Debug Mode. 

C. The activity will use Default in Run mode and in Debug mode. 

D. The activity will use Default in Run mode and SendWindowMessages in Debug mode. 

Correct Answer: D 

 

 

QUESTION 2

Can you run multiple instances of the same process, in parallel? 

A. Yes, on the same robot. 

B. No 

C. Yes, on different robots. 

Correct Answer: C 

 

QUESTION 3
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What is the robot able to do when the Full Text scraping method is used? 

A. Get the entire visible text 

B. Get font Information (Size color) 

C. Get editable text 

D. Get hidden information 

Correct Answer: ACD 

 

QUESTION 4

What recording wizard would you use to automate UI interactions in an application that does not offer support for
selectors? 

A. Basic Recording 

B. Citrix Recording 

C. Web Recording 

D. Desktop Recording 

Correct Answer: B 

 

QUESTION 5

What represents an example of tags and attributes identified by a partial selector? 

A.
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